EAVAS RPN B (225
DETH ~ ZEEHAE - SERBNER S HHRR

HHEERCE 109412 H

H H & A | BEAALEEEY e

AT

BB
BB 150,000 0007

&% - 85 52,008,337 63,988,069 |peir  msrr s
| HERYS T -

A 0 0

B 0 0

= 18 52,008,337 63,988,069




EAVAS RPN B (225
DETH ~ ZEEHAE - SERBNER S HHRR

b R 109 4117

H H £ A | BEAALRHEEE i
A
ERAEIS R
% - B 133,747 11,979,732 |Exbsmamarts - s -
BEARST 0 0
BER 0 0
= Ef 133,747 11,979,732




EAVAS RPN B (225
N~ BEERE - SRR B AR

HEERCE] 109 104
H H Z NS BEAX A LR HEER (-

DNERSCH 0 0
Lt HENRE 0 0
g% - #8) 2,309,015 11,845,985 |ERE=EGE - HIR/E -
T =2 L 0 0
s 0 0

=3 i 2,309,015 11,845,985




EAVAS RPN B (225
DETH ~ ZEEHAE - SERBNER S HHRR

HHEERREY] 109 FF9H

H H X A BEAH L Bt EEE =3
AT 0 0
BB E 0 0
&% - H5 84,370 9,536,970 |Eiss s Bass - BBZ -
BEAR S 0 0
EaE 0 0
= i 84,370 9,536,970




EAVAS RPN B (225
N~ BEERE - SRR B AR

HEERCE 109 A8 H
H H Z NS BEAX A LR HEER (-

DNERSCH 0 0
Lt HENRE 0 0
g% - #8) 740,495 9,452,600 |EMRE2EEE - FHIIRBE -
T =2 L 0 0
s 0 0

=3 Ea 740,495 9,452,600




EAVAS RPN B (225
N~ BEERE - SRR B AR

HHEERREY 109 FF7H

H H X A BEAH L Bt EEE =3
AT 0 0
BB E 0 0
&% - H5 1,727,136 8,712,105 |Eistiemat - HIAE -
A Z 0 0
PR 0 0
=3 s 1,727,136 8,712,105




EAVAS RPN B (225
DETH ~ ZEEHAE - SERBNER S HHRR

HHEEREY] 109 FF6H

H H X A BEAH L Bt EEE =3
AT
BB E
&% - H5 25,317 6,984,969 BB mE s - HIIAE -
BEAR S 0 0
B 0 0
= i 25,317 6,984,969




EAVAS RPN B (225
DETH ~ ZEEHAE - SERBNER S HHRR

HHEERREY] 109 FF5H

H H X A BEAH L Bt EEE =3
AT
BB E
&% - H5 248,938 6,959,652 |ElsELmEt: - HIIHE -
BEAR S 0 0
B 0 0
= i 248,938 6,959,652




EAVAS RPN B (225
DETH ~ ZEEHAE - SERBNER S HHRR

HHEERREY] 109 FF4H

H H X A BEAH L Bt EEE =3
AT
BB E
&% - H5 4,005,394 6,710,714 |Eissemats - HIHE -
BEAR S 0 0
B 0 0
= 18 4,005,394 6,710,714




EAVAS RPN B (225
DETH ~ ZEEHAE - SERBNER S HHRR

HHEERREY 109 35

H H X A BEAH L Bt EEE =3
AT
BB E
&% - H5 547,274 2,705,320 |Elsiemats - HIIHE -
BEAR S 0 0
B 0 0
= 18 547,274 2,705,320




EAVAS RPN B (225
DETH ~ ZEEHAE - SERBNER S HHRR

HHEERRE] 109 FF2H

H H X A BEAH L Bt EEE =3
AT 0 0
BB E 0 0
&% - H5 1,671,341 2,158,046 |ElsEemats - HIIHE -
BEAR S 0 0
B 0 0
= 18 1,671,341 2,158,046




EAVAS RPN B (225
DETH ~ ZEEHAE - SERBNER S HHRR

PR 109 4F 1H
H H X A BEAH L Bt EEE =3

AT 0 0
BB E 0 0
&% - H5 486,705 486,705 |2 BmEE: - HIRE -
BEAR S 0 0
B 0 0

= 18 486,705 486,705




